Lesson 4
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Describing Kinematics

25 3s 45 55

- S S S S S N
20m 30m 40 m 50m

Time (s)




LINEAR UNIFORM MOTION ®© 6 06 06 06 0 0 0 0 0 o

= Why is there MOTION? Hint:

= Why is it a LINEAR motion? :
Trajectory

= Why is it a UNIFORM motion? Constant speed

= Why ISN’T it a uniformly accelerated motion? Change position

= How FAST is it travelling? Changing speed
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= Why is there MOTION?
= Why is it a LINEAR motion?
» Why is it NOT a UNIFORM motion?

Hint:

Trajectory

Constant speed

= Why is it a UNIFORMLY ACCELERATED MOTION?

= |s the ACCELERATION zero or constant?

Change position

Changing speed




